
Équations à connaître 

𝑣 =
𝑐

𝑛
 

𝜆𝑛 =
𝜆0

𝑛
 

𝜃 = 𝜃′ 

𝑛1 sin 𝜃1 = 𝑛2 sin 𝜃2 

1

𝑓
=

1

𝑝
+

1

𝑞
 

𝑁 =
𝑟

𝜆𝑛
=

𝑟𝑛

𝜆
 

Δ𝑁 = 𝑁2 − 𝑁1 

Δ𝑟 = 𝑟2 − 𝑟1 

𝑁 =
𝑟𝑛

𝜆
+ 𝑁𝑟é𝑓𝑙 = {

𝑟𝑛

𝜆
+

1

2
   (réfl. dure)

𝑟𝑛

𝜆
+ 0   (réfl. molle)

 

𝑎 sin 𝜃 = 𝑝𝜆 

𝑑 =
1

𝑛
 

 

 

Constantes fournies 

𝜀0 = 8,854 × 10−12 
C2

N⋅m2 

𝜇0 = 4𝜋 × 10−7 
T⋅m

A
 

 

Équations fournies 

𝐼 =
𝑃

𝐴
 

𝐼 =
𝑃

4𝜋𝑟2
 

𝐼 = 𝐼0 cos2 𝜃 

𝑓 =
𝑅

2
 

𝑚 =
𝑦𝐼

𝑦𝑂
= −

𝑞

𝑝
 

𝑉 =
1

𝑓
 

𝑁2 − 𝑁1 = 𝑚 

Δ𝑟 = 𝑑 sin 𝜃 = 𝑚𝜆 

ΔΦ = 2𝑚𝜋 

ΔΦ

2𝜋 rad
=

Δ𝑟

𝜆
 

𝐼 = 4𝐼0 cos2 (
ΔΦ

2
) 

𝐼 = 𝐼𝑚𝑎𝑥 (
sin 𝛼

𝛼
)

2

 

𝛼 =
ΔΦ

2
=

𝜋𝑎 sin 𝜃

𝜆
 

sin 𝜃1 =
1,22𝜆

𝐷
 

Équations optionnelles ou 
non essentielles 

𝐼 =
𝐼0

2
 

sin 𝜃𝑐 =
𝑛é𝑚

𝑛𝑖𝑛𝑐
 

 


